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Topic :-DIFFERENTITATION

1. Ify=0+x)1+x)1+x%)...(1 + x*™"), then the value of%atx =0is
a)o b) —1 a1

2. If\/l —x? +\/1 —yi=a(x—y), then%equals

1-— 1—
a)\/(l_xz)(l_yz) b) 1_?:2 C) 1_;2
3. The derivative of e with respect tolog x is
a) e b) 3x22¢" c) 3x3e™

X

4. The rate of change of \/(x? + 16) with respectto 7—7atx = 3 is

d) None of these

d) None of these

d) 3xzex3 +3x?

11 12
a) 2 b)T J-—= d) —3
5. Ifx=1log(1+t?)andy=t—tan"!t.Then, %is equal to
a) e —1 b) 2 —1 et d)e* —y
6. Ify=(1+x)(1+x*)(1 +x*)..(1 + x*"), then the value of (%)xzo is
a)o b) —1 Al d)2
7. Iff(x) = (1 — )", then the value of £(0) + £/(0) + =2 +..@ i
a) 2" b)0 c)2n1 d) None of these
8. If f(x) = (ogcotxtan x) (10gnx cot x) ™! + tan™? " 4_" -, thenf’(2) is equal to
a); b) —3 01 d) —1
9. Ify=cos?3*— sin?3%, then s
2 2 dx?
a) =31 —y? b)9y c) —9y d) 3.1 — y?

10. If f(x) =log,(log. x), thenf’(x)at x = e is equal to
a)l b)2 )0
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d)=

e
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11.

12.

13.

14.

15.

If f(x) = cos™! {Logex)z}, then f'(e)

1 + (loge x)?
a) Does not exist b)Is equal to %
Iff(x)=1+nx+ n(nz_ Dy2 4 2
a)n(n—1)2"1 b)(n—1)2"1

n—1)(n—-2) 3
3 X

If 2% 4+ 29 = 2**Y then :—j is equal to

(2% + 2%)

(2*+2%)
a) (Zx _ zy)

(1 + 2%

b)

d

If2x? —3xy + y* +x + 2y —x =0, thend—z
3y—4x—1 3y+4x+1

a)Zy—3x+2 b)2y+3x+2

. _ d .
Ifsiny + eV =g, thend—zat (1, m)is

c) Is equal to% d)Isequalto 1

+.... + x"then f"(1) is equal to

c)n(n—1)2"2 d)n(n—1)2"
_ Zy— 1 2x+y_ zx
C) 2" y(1 — 2") d) 2
Sy—dx+1 Iy—dx+1

€2y "3x—2 d)2y+3x+2

a)siny b) —xcosy e d)siny —xcosy
d _1(a—x\].
16. dx[tan (1 — ax)]lS equal to
1 1 1 S —1
a) — 152 b a1 2 1+ (=2)° d) [ - (=)
_ —1(acosx —bsinx dy .
17. Ify =tan (m), thena is equal to
a) 2 b) —1 3 d)=
Pz dy.
18. Lety =x* , then _—is equal to
- ? -y
a) yx'~! b)m C) X1+ ylogx) d) None of these
19. If x*yYz" =, thenz—i is equal to
1+ logx _ (14 logx 1+ logz
a) (1 + logz) b) (1 + logz) C) (1 T logx) d) None of these
R 1) L1 (Wx—1 dy
20. Ify =sec (\/;_ . + sin (\/§+ 1), then Tx equals
VE+1 Jx—1
a)l b)0 ) 1 d)\/E+1
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